
Tabelle der 5%-Verwerfungsbereiche für den Wilcoxon-Test:

N H1: m 6= 0 H1: m < 0 H1: m > 0

4 — — —

5 — {0} {15}
6 {0} ∪ {15} [0, 2] [19, 21]

7 [0, 2] ∪ [26, 28] [0, 3] [25, 28]

8 [0, 3] ∪ [33, 36] [0, 5] [31, 36]

9 [0, 5] ∪ [40, 45] [0, 8] [37, 45]

10 [0, 8] ∪ [47, 55] [0, 10] [45, 55]

11 [0, 10] ∪ [56, 66] [0, 13] [53, 66]

12 [0, 13] ∪ [65, 78] [0, 17] [61, 78]

13 [0, 17] ∪ [74, 91] [0, 21] [70, 91]

14 [0, 21] ∪ [84, 105] [0, 25] [80, 105]

15 [0, 25] ∪ [95, 120] [0, 30] [90, 120]


